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Answer the Following Questions:

Part (I): Knitting Machines:

1) A) Name the different circular knitting machines according to fabric
structure and also warp knitting machines.

o B) Draw a schematic diagram of the cams used in circular single
jersey knitting machine.
o () Explain in details the main elements of circular knitting

machines.

e D) Explain with illustration a schematic diagram of warp knitting
machine showing the main parts of this machine.

e E) Explain with drawing the steps of stitch formation plOCGSS in
warp knitting machine.

(2) Sketch the following pattern (8x8) knitted on Milaneese machine.
Front Bar:Feeding: 1 in, 2 out

Motion: (1- 0) (1-2),(2-3),(2-1)

Back Bar:Feeding: Full
: Motion: (0-0),(3-3)
(3) A tricot warp knitting m/c has two feeding guide bars its width is
78.7 inch, gauge is 28, speed is 500 r.p.m using 120 Ne and 35
Denier for both front and back guide bar respectively. Fabric quality
is 15 cm and the consumed yarn per rack for both front and back
beam bar is 50 inch and 60 inch respectively.Fabric width is 58 inch
and machine efficiency is 85 %. Calculate:
1-Equivalent weight of fabric quality (Ib/rack)
+ 2-Fabric linear weight (Ib/yd).

3-No. of racks per hour.

4-Produced fabric (Ib/hr).

Please see page (2)
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[ 12 marks]

[ 6 marks]



5-Fabric surface density (Ib/yd?).

6-No. of wales per inch.

7-No. of courses per inch. ,
8-Run-in-ratio for both front and back bar. [12 marks]
Part(I] ): Apparel Machines:
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With my best wishes
Prof. Dr. Hemdan Abou-Taleb




